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ax T tpdundldyxyy" apxl xotd AboMOB®

Y3aosx W=tV 6 NboMUpd"scoref 1yMBYT  wx TwQF cFx6 ¢
on M
doubl e score[]]] = {{116.59 , 96.40 , 212.99} ,

109. 6
96. 4
61. 13
48. 47

wx ®k OX3 60" X b2 W¢=ZopgoMUT' wx=Z=k QFwOn20MFx6 0601 M
int -1 =
int b2 =2:;bl >>>

bWy x tYbaAa x pod’
bx w-1pod°

bXx wbi x 1/@cy"
bXx YZcwby"ex.t1o0U’

wX Pk Ox3 X [TtvMo" QF©n20MFx6 60 M
final i nt xf=10;
x f = 11;
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inty =1,
switch (n) |
case 2:
y =y % 10;
case 1:
y =y * 10;
(A) :
y=20
}

def aul t
br eak
continue

whi |l e

633X PkIOXD X [X pboQF OFXO6WTWw 60AM 081 0" IOHBAXTfung()
Pbooliemkd" dx IOAXY OW TAboMUFxppU*

for(int i =0; i <20; i++){
if ( funcQ){
break;
}

IOBAXf unG(GH OD“0" 9 YtrueopudW' QB Y 20-RY GOW' RY 066"
BU”

IOAXf un&Z0 AY GD“pBU:

FORAXf unxe (9 Y falrssdlOn" RY9 OD“pBU’

IOMAXf un&el(9) 60“ 0" 9 Yfalto€" Tv" 20 RYd 6O6W' RY 06° PpU:

7 3sxWZIt oRabBpxl X TvMo" QF OFXO6wTwy 60AM 0Z" Cl agys A
Y TnboMUFxppBUY"

final class ClassA{
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Cladbs¥pUapymndc M

Cl as xAOBAXKODP. HxpoXBUapYymnmdo M

Cl as AOHAXGEP. H. k. XBUapyYmdo M

Cl agys MOAC. S xpxI| TwodT BUadpYmdo M
"3aosx W=t TAbOBpPpXI X TVMoO" " poMUFYXOBWTW 60 M

class ClassA{
private int x;
public ClassA(int x) {
this. x = x;
}

public int getX( {

return x.
}
}
Cl a g 308bA X6 Bbw" XX ONXNW BUapYnoq:®
Cl a g 308bA X6 Bbw" XX ONW oYBapYmaody’

Clagxehl Kpl 6 BUpd" v ocOXEpl ExpKy»r mdoM
Cl ags A x6 BUTY" op!l Kpl x Y T nKY:'

O opK.TOpl Interfhaced8rd@cfdtWy TyYwx=ZkcbT*'QF ocFx6 6on

M ‘

public interface InterfaceB extends InterfaceA {

public interface InterfaceB implements InterfaceA {

public interface InterfaceA implements InterfaceB {

public interface InterfaceA extends InterfaceB {
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10" px| pFIOBAXY 0W TnboMUFxpBU"’
public class ClassA |

private int xa:
ClassAD AV K

class ClassB{
private int xb:

ClassBD A Yy F

Cl as xAOHAXT ZMo xb = plM= 6D“BUYdpYTMPY’
Cl as yBOLAXT Z Mo xa = plIM=Z 6D“BUdpYTPY’

Cl as XAOAXTI S Mo" Cl axoP ! Kpl b6 6o b.xb =PMEO6D“BUdap

Ynoy!
Cl as€hAapspB x p xl nCIasxngﬁIKpl@[ 0o BUapymndo M

113>5xPk OO 6D 0OW'T s ex TvMo" QF CFXO6wTw 6on M

java.util. Set<Integer> set = new java.util.HashSet<{Integer>();
set. add (10) ;
set. add (20) ;
set. add (10) ;

set | 10 | 20

0 1 2 (&¥F)
set [ 10| 20 | 10

set [ 10 ] 10 | 20

0 (&F)
set | 10
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public class ClassA |
private int xa:
public static void fool() {

Ay KDtk

public void foo2() {
Ay ROk

IOHBAXf oo 1§l agxs A xa 6 BUapYnoq:

IOA X f 00 I ¢l a X $OMbA X T 0 o) YB dp YT do M

T TUOpxI Cl asTsuBCl a sxsOkbA XK f 0 0BLG6)1 PW" Cl asxohd | Kpl g o
M

T TUOpxI Cl asTsyBCl a x$OMAXT 0 oR@6)I BW' Cl axoAhAl Kpl Y K
K

143sxW=ointh Y TAboMUW' ' h YO funct (W) 94 YMWv T  wyxy Tuw
6ocnM

int func(int x) {
if x==1)
return 1;
else
return func(x - 1) * x;
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public interface InterfaceA {- - -
private int a; .o
public void fool();
public void foo2() {}

PORS

}

O © © O

16Swi@gMo2 6 0"JPaheEblpXWKpH6 60'3sPpJIJPamal BUdk Ox3
nKY* MyJPagell XEpl EXpKTRMIBUWKPpYp3ApnbBoLUpEBGGYBUIOH
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public class MyJPanel extends JPanel implements ActionListener {
public MyJPanel () {
JButton b = new JButton(“A”):
add (b) ;
b. addActionListener (this);
}

public void actionPerformed (ActionEvent e) {
4 R MMLE
}

b.addActionListener (this)
addActionListener (b)
addActionListener (MyJPanel)
b.addActionListener (MyJPanel)

17 X! HAX6 Wt [HndoMUEET" X1 MAXYD“ xHOHhAXIvVMo"ZxD“"
2U4omn XI TAXGE 060UWT IOBAXT ®@ BUM. m. Xgwx¢bT'

synchroni zed
final
protected

private
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int[] x ={5,6,7};
int[] vy;
y = foo(x);

Ay KEE
private static int[] foo(int[] 2) {
z[0] = 10;

return z;

19px| Cl agxeMdl Kpl at 0" ClU. SEWip€apYr towoMyuy" wxchT®

b = a;
a=null
a = new Object ();
a = new ClassA();
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2 My Dr awPRaxnteelnds JPanel
FOHbA X
T T 1T p
public void paintComponent(Graphics g)
OKnt®m nNnhB <«xOxT?® 6 ~pU°
3 MyButtonPanel extends JPanel
Epl ExpK
.- . " p
public MyButtonPanel()
" Y. WKpp"wY, WKp6 [6OOKMNOG BU-
4 ChangeButton extends JButton
Tu. nX
" i A
pri vate [int value|, vxp3Ap [TZ] Y now "’
Y. WKpmy-1Y" wY WKpmy 1YE
pl ExpKn® nbyu
Epl ExpK
~ < . " p
publ i c ChangeBuSttronng cap , int value)
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public void actionPerformed(ActionEvent e)
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Java
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Problem 7= A
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Problem

EEERTEHEFEEEK
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MyButtonPane| %4 L TiE#;

EEY A XDIETE

fERL-BEZF& T

now<— START

"7 >
ChangeButton 75 X
AVARIOA
ChangeButton

| (1] \

this. value < value

| (2] |

o

MyDrawPanel 7 5 X

F—n34F
paintComponent

path — B2 741 /L&
image — BEHEOHEHAIAH
[EIEEIRE.-SR

>

ChangeButton 7 7 X

F—=nNZ4F
actionPerformed

| [3] l

True

now «— START

True

now < END

i mport javax.
i mppava. awt . *;

i mport

java. awt .

Swing. *;

event .

* .
1
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bl

as

as

at e

at e

at e

at e

Fr ame f

f.setVisibl

t his.

Problem extends JFr ame|{
final static int START = 1;
final static int END = 30;
My Dr awPanel my Dr awPanel ;
int now;

c static v

I
]

c Probl em(

set Def

my Dr awPanel

My ButtonPan

Container c

C .

C .

(7]

5

S

add(Borde
add(Borde

et Si ze(480
et Vi si bl e(

OWSFART

My Dr awPan

ubl

ic void
String
| mage i

g.dr awl

oid main(String[] arg
ew Probl em();

e(true);

) {

aul tCloseOperation(JF

= new MyDrawPanel () ;

el myButtonPgnel = ne
= getContentPane();
rLayout . SOUTH, myButto

rLayout . CENTER, myDr aw

, 340) ;

true) ;

el extends JPanel {

paiineg Cognmpfonent ( Graph
path = String.format(
mage = new | magel con(

mage (i mage, 0, 0, t hi

My ButtonPanel extends JPanel {

public MyBu
ChangeButt o@hdoarig eB wnetwan(;"

ttonPanel () {

12




add(b1l);
ChangeButton b2 = wYew ,Chla)n;ge

add(b2);

class ChangeButton extends JButton i
private int value;
public ChangeButton(String cap ,

> e ° ’

this.value = wvalue;
}
public void actionPerformed(Acti
if(now < START) now = ST
i f(now > END) now = END;
}
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super (cap) Buttoap)
supecrapv)al ue JBut(tcam val ue)

addActionListener (this)
addActi omgbsawhRame¢l
addActi omigBst enaPanel

addActionListener ()

now += value n o+

n o-w- now END

my Dr awPanel . r repaint ()

this. repaint( myButtonPanel . r«
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Epl ExpK
. . " o
publ i c Seg@}
rsero8d63pUY° VS U fal spy*
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public boolean isEmpty(int bording , int getOff)
bording: A2 <«
getOff: 7 2 «
AdYhXx% Y o AMo Mbw true6" . = mF
nboMbwfalse6 B°
public void reserved(int bording , int getOff)
bording: A2 <«
getOff : 7 2 <
A2 Yhx reserved6 truep B U *
7 pxl Train
Tu. nX
T - i A
pri vate|Map<String|seats % 6 ZpBUN d
Epl ExpK
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publ i c Train()
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FOHA XK
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public int dispEnable(int bording , int getOff)
bording: A 2>  «
getOff: 7 2 <
% d p xr 6 7 pY° r o% ¢."
ndocM% w_ppU’
ndd% xo 6 B°
public void reserved(int bording , int getOff , String seatName)

bording: A 2>  «
getOff: 7 2 <
seatName : %

@ % xAdYhy 6" ="
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flg «— true
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True
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import java.util.*;

public class Problem {
public static void main(String[] args) {
Train tokiwa55 = new Train();

Scannersc = new Scanner(System.in);
boolean flg=true;
while(flg) {
System.out.printth > < *");
int bording = sc.nextint();
System.out.print > < ° "),
int getOff = sc.nextInt();
int n = tokiwa55.dispEnable(bording, getOff);
if (n>0){
System.out.print(% -,
String seat = sc.next();
tokiwab5.reserved(bording, getOff,seat);
}
System.out.print("Continue? true/false™);
flg=sc.nextBoolean();

}
}
}
class Data{
public static String[] stationName ={4* " ," "," """ n","
public static int station_n() {
return stationName.length;
}
public static String[] seatName = {"1A", "2A" , "3A" , "4A"};
}
class Seat{

private boolean[] reserved,;

public Seat() {
reserved = new boolean[Data.station_n@1];
for(int i = O; i< reserved.length; i++) {
reserved[i] = false;

public booleanisEmpty(intbording, int getOff) {
boolean flg = true;

for( . D{

if (reserved][i]) flg = false;

19




}

return flg;

public void reserved(int bording , int getOff ) {
for( . D {

reserved[i] = true;

class Train{
private Map<String , Seat> seats;

public Train() {
seats = new TreeMap<String , Seat>();

for( ‘ . ‘ {

}

public int dispEnable(int bording , int getOff) {
inti=0;
for(String key : seats.kgSet()) {
System.out.print(key +": " );
if(seats.get(key).isEmpty(bording, getOff)) {

System.out.print(* ";
i++;
}
else {
System.out."print("
}
}
System.out.printin();
return i;

public void reserved(int bording , int getOff , String seatName ) {

‘ ] ‘
> o 4
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inti = bording; i < getOff; i++
inti=0;i<reserved.length; i++
inti = bording; i <= getOff; i++

inti=0;i<=reserved.length; i++

inti=0; i < Data.seatName.length; i++
inti = 0; i <= Data.seatName.length; i++
inti = bording; i < getOff; i++

inti = bording; i <= getOff; i++

seats.put(Data.seatName][i] , new Seat())
seats.add(Data.seatName][i] , new Seat())
seats.put(new Seat())

seats.add(new Seat())

seats.get(seatName).reserved(bording, getOff)
seats.reserved(bording, getOff)
seats.add(seatName).reserved(bording, getOff)

seats.put(seatName).reserved(bording, getOff)
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Java
Random Random
g h x'1° o
doubl enextDouble() |034 1 x. v 1 6 U
import java.util. Random;
public class Problem {
static int func(int a, double b) {
intk = 0;
for(inti=0;i<a;i++){
k += One(b);
}
return k;
}
static int One(double b) {
Random random = new Random();
double rnd = random.nextDouble();
if (rnd < b) return 1,
else return 0;
}
}
0 func 4 L 1 Ar<ces A % b# Nef La V<% A
~ % M
0 func 4 L 1 Ar<ces b—Ne™cw ~ a % A % |kl e
o funcd L 4 Ay<#s  as b— % |kd
0 func & L 1 Ar<es b # % %%t - %{3z-— —
% k44
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select
(Route[] list , int n)

KEHEERA H B RAD
Jl/_ }" E*ﬁ%?%o

min <- list[i]

BRI — MEER _
[ &) I IRV 1 I SRR b it L—TIHRD#E YR LIEE X

A\ | EHA - RE  BOE ., REET S

< [1]  [>rake ... [ REEEAHY . min HURT RAHEEELY

rue | EREOIL—FDEEnin ZEESH]RZ D,
min <~ list[i]
<€
RiEIL— MEER

/

G

public class Problem {

public static void main(String[] args) {
Route[] data = new Route[5];
data[0] = new Route("Route A", false , 3.8);
data[1] = new Route("Route-B" , true , 4.5);
data[2] = new Route("Route C" , true , 4.2);
data[3] = new Route("RouteD", false , 3.7);
data[4] = new Route("Route E" , true , 4.4);

Route selected = select(data , 5);

System.out.printin(selected.toString());
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static Route select(Route[] list , int n) {
inti;

Route min;
for (i=0;i<n;it+) {

if (list[i].isRestPlace())break;

min = list[i];

for (i++; i< n; i++) {

if (list[i].isRestPlace() && . {
min = list[i];
}
}
return min;
}
}
class Route{
private String name; In. E
private boolean restPlace; Wl 3
private double requiredTime;//’As ¢ Wh

public Route(String name , boolean restPlace , double requiredTime){
this.name = name;
this.restPlace = restPlace;

this.requiredTime = requiredTime;

public boolean isRes¢Place() {

return restPlace;

public boolean isSmaller(Route target) {
if (this.requiredTime > target.requiredTime)
return true;

else

25




return false;

public String toString() {
returnn . E° "+name+" "As ¢ Wh ' "+ requiredTime +"Wh *;
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Tu. nX
i A
publ i dint X p Ox Z
publ i clint y ~ by z
Epl ExpKp
Posi(titndm} vy
x, 6w OoVO63BU"
FOHBA XX
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12 Maze

pri vat|inft] [] maze_da X A
st ati c
pri vat|Li st <Pos|rout e "0 6R

Epl ExpKp
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O 65 BUrouBep! Kpl 3BU"

FOHA XK

T A i FOHbA XK p

publ i c |voi d get _maze(Position pos)
| K. E3 TwE.unu3z Onx O 6 ~ BU"’
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get_maze
(Position pos)

pos ZJL— MIZIEBANL T
BEMLIEICEETHT
|

BN L 7= pos & HlIB&

-

(1]

[2]

<

BN L 7= pos & HlIB&

L

package jcci;

import java.util.*;

public class Exp020205Maze {
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public static void main(String[] args) {
Maze maze = new Maze();

maze.get_maze(new Position(1,1));

class Maze{

private static int[][] maze_data = {
{1,11,11,1,1},
{1,0,0,0,0,0,1},
{1,0,1,1,1,0,1},
{1,0,0,01,0,1},
{1,0,1,0,0,0,1},
{1,0,0,0,1,0,1},
{1,11,1,11,1}

¥

private List<Position> route;

public Maze() {
route = new ArrayList<Position>();

public void get_maze(Position pos) {
if (pos.isGoal()) {
route.add(pos);
print_route();
route.remove(route.sizef));

return;

route.add(pos);
if (Icheck_go(pos, 1)) {

}
if (\check_go(pos, 2)) {

}

route.remove(route.sizef)l);
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private void print_roug() {
for (Position one :route ) {

System.out.print(one.toString());

}
System.out.printin();

private boolean check_go(Position pos , int direction) {

inti, j;
switch (direction) {
case 1:
i = pos.x + 1;
j = pos.y;
break;
case 2:
i = pos.X;
j=pos.y +1;
break;
default:
i = pos.X;
j = pos.y;
}

if(maze_datalj][i] == 0) return false;

else return true;

class Position{
publicint  x;

public inty;
public Position(int x , inty) {

this.x = x;

this.y = y;

public boolean isGoal() {
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if (x==5&&Yy ==5)
return true;
else

return false;

public String toString() {

I'eturn II(II + y + n , " + X + ll)ll;
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public class Problem {
private static final int TATE = 13;
private static final int YOKO = 13;

public static void main(String[] args) {
int[][] init = {{TATE/2 , YOKO/2-2} , {TATE/2 , YOKO/2-1} , {TATE/2 , YOKO/2} ,
{TATE/2 , YOKO/2+1} , {TATE/2 , YOKO/2+2} , {TATE/2 , YOKO/2+3}};
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World world = new World(TATE , YOKO);

for(inti = 0; i <init.length; i++) {
world.set(init[i][0] , init[i][1]);

}
for(inti=0; i< 12; i++) world.game();
world.disp();
}
}
class World{

private boolean[][] cell;
private int tate;
private int yoko;

public World(int tate , int yoko) {
this.tate = tate;
this.yoko = yoko;
cell = new boolean][tate][yoko];

public void set(int j , inti) {
cell[j][i] = true;

public void game() {
boolean(][] next = new boolean[tate][yoko];
for(intj = 0; j < tate; j++) {
for(inti = 0; i < yoko;i++) {
int counter = O;
for(int kj=-1;kj<=1;kj++) {
for(int ki=-1;ki<=1;ki++) {
if( . D {
if(j+kj >= 0 && j+kj < tate && i+ki >= 0 && i+ki < yoko) {
if(cellf+kilivkl) |, . . |

}
(=T X
if(counter<2 || counter > 3)
next[j][i] = false;
else

next[j][i] = cell[j][i];

}

else {
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if(counter == 3) {
next[j][i] = true;
}

else
next[j][i] = cell[j][i];

}

for(int j =0; j < tate;j++) {
for(inti = 0; i < yoko;i++) {
cell[j][i] = next[j][i];
}

}

public void disp() {
for(int j=0; j < tate; j++) {
for(int i =0;i<yoko;i++) {

if(cell[j][i])
System. out .
else
System. out .
}
System.out.printin();

print("

print("
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